M8 – Násobení mnohočlenu mnohočlenem I.
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1. Roznásob, popřípadě sečti: 

	a) [image: image2.png](a+b)-(c+3)=





	b) [image: image4.png]r+4)-(s+1 =





	c) [image: image6.png](5a+3)-(2a+4) =





	d) [image: image8.png](m+3n)-(2m + 4n) =





	e) [image: image10.png](a+1)-(2a+3)





	f) [image: image12.png](u+3v)-Qu+2v)





	g) [image: image14.png](6h +2)-(h+3)






	h) [image: image16.png](2x+3)-(2x+4) =






2. Roznásob, popřípadě sečti: 

	a) [image: image18.png]Bb+b*)-(b—c






	b) [image: image20.png]2m*—k)-(m*+ k)=





	c) [image: image22.png]




	d) [image: image24.png]—-2r)-(r+1) =





	e) [image: image26.png](u+v)-(s®—-2s) =





	f) [image: image28.png](45 —5%)-(h+3)







3. Roznásob, popřípadě sečti: 

	a) [image: image30.png](-m—-3)-(m-5) =





	b) [image: image32.png]




	c) [image: image34.png]k+4)-(—k-7) =





	d) [image: image36.png](—6a +b) - (—3a +2b) =





	e) [image: image38.png](4x — 5y) - (4x + 5y) =





	f) [image: image40.png](-d-2)-(-5d-1) =






4. Roznásob, popřípadě sečti: 

	a) [image: image42.png](a+3)-(5a*—4a+6) =





	b) [image: image44.png](W —u+t)-(u—2t) =





	c) [image: image46.png](7x*—3x+9) - (2x — 4





	d) [image: image48.png]




	e) [image: image50.png]r+s+7r8)-(—r* +1) =





	f) [image: image52.png]
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